27628-02 Tk |, woash A , IR, & | DIN ISO 12240-1 7]

B3R

7= miiEA

ME

R (D)5-12 ZYIHINFEHIF4E , BRY (D) 14 BN ARMNBIET
&, wEHE,

ZRWEL, ITEMM AL R H R AN BRI ET

B

K
e
BR:
T mEL B AT EFER, ERER IR DIN 648 FEX R % Ko

DH?

H
— Hf =
|
i
|
|
Di
SW
D= 020

H
l Hi
ﬂ‘i‘g
|
|
D1
SW
D<018

2
>N

B1

|
A
|
an

|
)
T
=

27628-02-05 |GHEIRL | B IEIMW| 27 (16| 4 |5 M5x0,8 85 (11| 7,7 |8| 6 11,11 |10 35 |13 9 3,25 57
27628-02-06 | AHESRLK HLIHIK| 30 |18 5 | 6 M6x1,0 10 [13(896|9|6,75| 12,7 |12| 39 |13 11 4,3 7,2
27628-02-08 |GhEiRL S IHIMW| 36 [22] 5 |8 M8x1,25 12516104 (12| 9 15,875 |16| 47 (14 14 7,2 11,6

27628-02-10 |GHEIRL| B L0HI®M| 43 [26|6,5
27628-02-12  |GHEMRL|ZYTHI®M| 50 |30(6,5

M10x1,5 15 |19 12,9 |14/ 10,5 | 19,05 |20| 56 |13 17 10 14,5
M12x1,75 17,5 22| 154 |[16| 12 | 22,225 |22| 65 |13 19 | 134 17

RN N
N O

© norelem www.norelem.com



27628-02 Tk |, woash A , IR, & | DIN ISO 12240-1 7]

B3R

27628-02-14 | GHE¥RL| AR | 57 (34| 8 [14] M14x2,0 20 |25|16,9 19135 | 254 |25/ 74 |16 22 17 24
27628-02-16  |GHEMRL| AR | 64 [40| 8 |16] M16x2,0 22 |27|19,4|21| 15 | 28,575 |28| 84 |15 22 | 21,6 28,5
27628-02-18  |GHEMRY| AR | 71 [44] 10 [18] M18x1,5 25 |31|219/23/16,5| 31,75 |32| 93 |15 27 26 42,5
27628-02-20 |GHE¥RL| AR | 77 |50| 10 [20] M20x1,5 27,5|34| 24,4 25| 18 | 34,925 [33/102|14 30 | 31,5 42,5

27628-02-22 |GHEERY| AR | 84 |54| 12 [22| M22x1,5 30 |38|258 |28 20 38,1 |37/111]15 32 38 57
27628-02-25 |GHEMRY| AR | 94 [60] 12 |25 M24x2,0 33,5(42(29,6 [31| 22 | 42,86 |42|124|15 36 | 47,5 68
27628-02-30  |AHESRL| WHEM | 110(70| 15 |30| M30x2,0 40 |50|34,8 37| 25 50,8 |51|145|17 41 64 88

27628-02-051 |ZEhESRL ZYIHIW| 27 [16) 4 |5 M5x0,8 85 (11| 7,7 |8| 6 11,11 |10 35 |13 9 3,25 57
27628-02-061 |ZEHESR | HE0HIMN| 30 (18] 5 | 6 M6x1,0 10 (13896 |9|6,75| 12,7 |12| 39 {13 11 4,3 7,2
27628-02-081 |ZHEsRLY ZYIHIW| 36 [22) 5 | 8 M8x1,25 12,5]16|10,4 (12| 9 15,875 (16| 47 (14 14 7,2 11,6
27628-02-101 |ZHESRQ HE0HIMW| 43 [26]6,5(10] M10x1,5 15 |19 12,9 |14/ 10,5 | 19,05 |20| 56 |13 17 10 14,5
27628-02-121 |ZEHeSRQ HE0HI%| 50 [30]6,5 (12| M12x1,75 17,5 22| 154 [16| 12 | 22,225 [22| 65 [13 19| 134 17
27628-02-141 |ZEhESR4| WHRM | 57 (34| 8 [14| M14x2,0 20 |25|16,9 |19(13,5| 254 |25| 74 |16 22 17 24
27628-02-161 |ZCHEtR4Y| WM | 64 (40| 8 [16] M16x2,0 22 |27|19,4 21| 15 | 28,575 |28| 84 (15 22 | 21,6 28,5
27628-02-181 |ZHetR4| W4 | 71 [44] 10 [18] M18x1,5 25 |31|21,9|23/16,5| 31,75 |32| 93 |15 27 26 42,5
27628-02-201 |ZhEdRL| @FW | 77 [50| 10 |20 M20x1,5 27,5|34| 24,4125 18 | 34,925 |33/102|14 30 | 31,5 42,5

27628-02-221 |ZHESR| AR | 84 (54| 12 [22] M22x1,5 30 |38|25,8 (28| 20 38,1 (3711115 32 38 57
27628-02-251 |ZEHESRLY| WM | 94 |60] 12 |25 M24x2,0 33,5 (42| 29,6 31| 22 42,86 (4212415 36 | 47,5 68
27628-02-301 |ZHESRLY| MW | 110(70] 15 [30| M30x2,0 40 |50 34,8 |37| 25 50,8 |51/145|17 41 64 88

© norelem www.norelem.com



